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MATHS EVENTS THIS MONTH!
Family Maths night will start again in

September. You have been sent a
form on SIMS parent app to register
your interest. Could you complete
this asap please.

The winner of last month’s numeracy
competition was Malik R in 10P

Miss Owens was filling the
paddling pool with water. The
hosepipe was pumping the
water at a rate of 2 litres per
minute. How long would it
take to fill the pool if it holds
264 litrese Give your answer in
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Check out the numeracy

Mathswatch Champions this

page on the school web-
site here

month are ...
Year 7 Viraj P
Year 8 Natasha A

There are lots more
GCSE resources added

hours and minutes. here Year9 Thomas L
Year 10 Inayah M
1. Talk aloud of strategies to solve 1. Challenge your child on weekly tables.
problems. 2. Encourage your child to complete
2. Challenge students on the weekly homework.
tables. 3. Encourage/direct your child to the school

3. Include maths in your lessons
whenever possible.

Numeracy page.

Estimation skills for
|checking answers

1800

1800 is a reasonable estimate.,

How much maths will be in-
/| volved in Sports Day ?

62 X 29 | The answer is lots ...
60 Timings of races and winners
X 30 Calculating with points gained

| with positions in events

| Planning the timetable of
| events and lots more.

So many
problems!
-

The English book asked the Math book
why he was so sad.

You know what he said?
“Because | have so many problems!”




A bit of maths every day is a

1
great way to improve your skillsl | “
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NUMERACY COMPETITION!

Hand your entries to your maths teacher before the end of Term for chance of winning a prize! Don’t forget your name and

form
Trevor buys a boat. The cost y is an integer and 1053 = 13
of the boat is £14 200. —3<y=<5h
Trevor pays a deposit of
£5000 Write down all the possible
He pays the rest of the cost values of y.
in 10 equal payments.
Work out the amount of each 18 = 0.7 6
of the 10 payments 1= 13
Find 25% of 200 (1-0.2) x 10° 123 x = 1230
Find the missing number.

J Williamson




